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Wybrane aspekty uczenia maszynowego
na podstawie przykladow. Czesc I1.

Spis tresci:

1. Analiza preferencji wyborcéw w wyborach
sejmowych 2001r.

2. Modelowanie sieci neuronowych sieciami
uogélnionymi.






Rozdzial 1

ANALIZA PREFERENCJI WYBORCOW
W WYBORACH SEJMOWYCH 2001r.

WPROWADZENIE

W pracy podjeto probe zastosowania metod uczenia maszynowego na podstawie przykladow
(tworzacych reguly typu ,Jezeli ...To ..”) do analizy preferencji wyborcow, na przykladzie
wyboréw do Sejmu Polskiego w 2001r.

Na podstawie wstepnych analiz [1] oraz obliczen wiasnych stwierdzono, ze na preferencje
wyborcow oprocz wypowiedzi i deklaracji programowych partii politycznych w widoczny sposob
wplywa réwniez wizerunek medialny partii kreowany podczas kampanii wyborczej. Poszczegolne
partie i ugrupowania polityczne startujace w wyborach opisane zostaly za pomoca cech,
utworzonych w oparciu o analizg¢ ich obietnic przedwyborczych zaczerpnigta z pracy [1] oraz
dodatkowo wybranych cech, zwigzanych z wizerunkiem partii kreowanym podczas kampanii
wyborczej do Sejmu 2001r. [2].

Zadanie uczenia maszynowego na podstawie przykladow sformutowano w sposob
nastgpujacy. Dany jest zbior przykladow, zwany zbiorem uczacym (w pracy jest to zbior partii
politycznych: SLD i UP, AWS, UW itd.). Przyklady opisane zostaja za pomoca warunkow
zwigzanych ze skoficzonym zbiorem cech, ozn. 4. W tak okre§lonym zbiorze przyktadéw mozna z
punktu widzenia wybranej cechy, zwanej decyzyjng, dokona¢ podziatu catego zbioru przyktadoéw
na tyle klas, ile warto$ci moze ta cecha przyjmowac. Przyjeto zatozenie, ze liczba i rodzaj cech
wystarczaja do poprawnego rozdzielenia przykladow nalezacych do roznych klas. W pracy
rozpatrzono cztery rozne podziaty na klasy, odpowiadajace zagadnieniom przedstawionym ponizej
Cecha decyzyjng byta cecha a9, z réznym zbiorem warto$ci w kazdym rozpatrywanym zagadnieniu.

W pierwszym rozpatrywanym zagadnieniu cecha decyzyjng byla cecha a9, ,, wybdr do Sejmu”™
z warto$ciami {partia weszta do Sejmu, partia nie weszta do Sejmu}. Cecha decyzyjna okreslata w
tym przypadku dwie klasy. Klasa pierwsza zawierata zwycigskie partie polityczne, ktore weszly do
Sejmu; klasa druga zawierata partie polityczne, ktore nie weszty do Sejmu. W tym zagadnieniu
rozpatrywano roznice pomiedzy zwycigskimi partiami politycznymi a partiami, ktore nie weszly do
Sejmu.

W drugim zagadnieniu cechg decyzyjng byta cecha a9, ,, przynaleznosé partii” z wartosciami
{koalicja SLD i UP, pozostale partie}. W tym zagadnieniu rozpatrywano roéznice pomigdzy SLD i
UP a pozostalymi partiami.

W trzecim zagadnieniu cechg decyzyjna byla cecha a9, ,, przynaleznosc partii” z wartosciami
{koalicja SLD i UP, pozostale partie ktore weszly do Sejmu, partie kidre nie weszly do Sejmu}. W
tym przypadku rozpatrywano réznice pomigedzy wymienionymi powyzej grupami partii.

W czwartym zagadnieniu cecha decyzyjng byla cecha a9, , przynaleznosé¢ partii” z
warto§ciami {koalicja SLD i UP, PO, SO, .., UW}. W tym przypadku rozpatrywano roznice
pomigdzy rozpatrywanymi partiami.

W kazdym rozpatrywanym zagadnieniu rozwazano dwa przypadki. W pierwszym przypadku,
partie polityczne (tzn. przyklady) opisywano za pomoca cech okreslajacych ich deklaracje
programowe; w drugim, uwzgledniano rowniez wybrane dodatkowe cechy, okreslajace
doswiadczenie partii w rzadzeniu, istnienie charyzmatycznego lidera oraz sposob prowadzenia
kampanii wyborczej.



Zbiory tak okre$lonych przyktadow uczacych (z ich podzialem na klasy we wszystkich
rozpatrywanych zagadnieniach) byty punktem wyjscia w procesie uczenia maszynowego, w wyniku
ktorego uzyskiwano opisy rozpatrywanych klas, w postaci regul. Przyjeto, ze tworzone reguty
musza spetnia¢ pewne dodatkowe wymagania. Powinny np. poprawnie opisywac “wszystkie” lub
»prawie wszystkie” przykiady nalezace do rozpatrywanej klasy i nie opisywac “wszystkich” lub
»prawie wszystkich” przyktadow do tej klasy nie nalezacych, mie¢ minimalng dtugos$¢ (np. w sensie
liczby warunkoéw tworzacych regule) itp.

W pracy tworzono opisy klas w postaci regut, w ktorych poprzednik kazdej reguly zawierat
koniunkcj¢ warunkéw zwigzanych z podzbiorem cech wybranych do opisu partii politycznych, a
nastepnik reguty okreslat przynalezno$¢ do odpowiedniej klasy.

Reguly, o ktorych byla mowa wyzej, mozna tworzy¢ stosujac rozne algorytmy uczenia
maszynowego na podstawie przykladow. W pracy zastosowano podejscie oparte na
zaproponowanej przez Pawlaka teorii zbiorow przyblizonych (1982) oraz metode wykorzystujaca
modyfikacj¢ zadania pokrycia zbioru, opisana przez Szkatule (1995) a nastepnie rozwinigta przez
Kacprzyka i Szkatute (1999).

We wszystkich zagadnieniach rozpatrywanych w pracy najpierw wyznaczano zbiory
reduktow dla rozpatrywanej klasyfikacji, tzn. okre§lono wszystkie minimalne podzbiory zbioru
cech A\{a9} zapewniajace taka sama rozroznialno§¢ przyktadow (nalezacych do roznych klas) jak
oryginalny zbiér cech. Nastgpnie tworzono reguly klasyfikujace do klas, na ktore dzieli zbior
przyktadow uczacych wybrana cecha decyzyjna. Przyjeto zalozenie, ze reguly te powinny
poprawnie opisywaé wszystkie przyklady uczace. Tworzono minimalne zbiory regut do
rozpatrywanych klas, jak rowniez zbiory wszystkich regul poprawnie opisujacych dany zbior
przyktadow.

Uwzgledniajac w obliczeniach oprocz deklaracji programowych partii rowniez wybrane
dodatkowe cechy, takie jak doswiadczenie partii w rzadzeniu, istnienie charyzmatycznego lidera
oraz sposob prowadzenia kampanii wyborczej, otrzymano w rozpatrywanych zagadnieniach
(zagadnienie 1, 2 i 3) krotsze reguly decyzyjne, o wigkszym wspotczynniku sity.

OPIS DANYCH

Do opisu partii politycznych przyjeto 8 cech przedstawionych ponizej, okreslajacych deklaracje
programowe partii politycznych (w nawiasach zawarto wartoéci, jakie moze przyjmowac cecha).
al: walka z bezrobociem {1, 2, 3, 4}
a2: edukacja i nauka {1, 2, 3, 4}
a3: podatki {1, 2, 3, 4}
a4: polityka gospodarcza {1, 2, 3, 4}
a5: zdrowie {1, 2, 3}
a6: rolnictwo I polityka regionalna {1, 2, 3}
a7: bezpieczenstwo {1, 2, 3,4, 5}
a8: stosunek do UE {1, 2, 3}
ceche decyzyjna oznaczana a9, ktorej wartosci sa zalezne od rozpatrywanego zagadnienia.
Przyktadowo, w zagadnieniu 1, cecha a9 okresla wejscie do Sejmu z wartosciami {1 - tak, 2 -
nie}; w zagadnieniu 3 cecha a9 okresla przynaleznos¢ partii z wartosciami {1 - SLD_UP, 2 -
inne partie ktore weszly do Sejmu, 3- partie, ktore nie weszly}.
oraz trzy cechy zwigzane z wizerunkiem medialnym partii, przedstawione ponizej
al0: doswiadczenie w rzadzeniu {1 - tak, O - nie},
all: charyzmatyczny lider {1 - tak, 0 - nie},
al2: prowadzenie kampanii wyborczej {1 - widoczna, O - nie}.

Doktadne oméwienie cech i wartosci, jakie moze przyjmowac kazda cecha zawarto w Dodatku 1.
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ZAGADNIENIE 1.

OkreSlanie réznic programowych pomigdzy szeScioma partiami ktére weszly do Sejmu w
2001 a dwoma partiami, ktére nie weszly.
Cecha 9-ta decyzyjna: wejscie do Sejmu 2001 {1 - tak, 2 — nie}

PRZYPADEK 1.1

Cecha decyzyjna: Cecha 9
Cechy niezalezne: Cecha 1, Cecha 2, Cecha 3, Cecha 4, Cecha 5, Cecha 6, Cecha 7, Cecha 8

Znaleziono 6 reduktow Cechy - czestotliwos¢ wystepowania cech w reduktach
redukt 1: cechy: 12 cecha 1 1
redukt 2: cechy: 2 3 cecha 2 6 (edukacja i nauka)
_|redukt 3: cechy: 2 4 cecha 3 1
redukt 4: cechy: 2 7 cecha 4 1
redukt S: cechy: 2 8 cecha 6 1
redukt 6: cechy: 2 6 cecha 7 1
cecha 8 1

Znaleziono S regul:

a5=2 =>a9%=1 (4 przykiady) q=0.500
a2=3 =>3a9=1 (2 przyktady) q=0.250
al=4 =>4a9=1 (1 przyklad) ¢=0.125

a2=4 a8=1 =>a9=2 (1 przyklad) q=0.125
a7=4 =>2a9=2 (1 przyklad) q=0.125

Powyzsze reguly mozna zapisa¢ w sposob przedstawiony ponizej.

[zdrowie = likwidacja Kas Chorych] =>[a9 = 1]; ¢=0.500
[edukacja i nauka = zahamowanie likwidacji szkot wiejskich i wyzszych szkot zawodowych w
mniejszych miastach] =>[a9 = 1]; q=0.250

[walka z bezrobociem = brak propozycji] =>[a9 = 1]; q=0.125
[edukacja i nauka = powszechny dostep do internetu i nauki jgzykow obcych] A [stosunek do UL

= poparcie wstapienia jesli zaistnieja korzystne warunki] =>[a9 = 2]; q=0.125
[bezpieczenstwo = rozw6j samoobrony obywatelskiej] =>[a9 =2]; ¢=0.125

Wszystkie znalezione reguly (41):

a2=2 =>2a9=1 (2 przykiady) al=2 a2=4 =>2a9=2 (1 przyktad)
a3=2 =>a9=1 (2 przykiady) a2=4 a3=3 =>a9=2 (| przykfad)
a4=2 =>a9=1 (2 przykiady) a2=4 a4=4 =>2a9=2 (1 przyklad)
a5=2 =>2a9=1 (4 przyklady) a2=4 a5=1 =>a9=2 (1 przykiad)
a7=1 =>2a9=1 (2 przyklady) a2=4 a6=3 =>a9=2 (1 przyklad)
al=1 a2=4 =>a9%=1 (1 przyklad) a2=4 a7=2 =>a9=2 (1 przyklad)
a2=4 a3=1 =>a%=1 (1 przyklad) a2=4 a8=1 =>a%9=2 (1 przykfad)
a2=4 a4=3 =>a9%=1 (1 przyklad) al=1 a2=1 =>a%9=2 (1 przykiad)




a6=2 =>a%9=1 (2 przyktady) a2=1 a3=1 =>a%=2 (1 przykfad)
a7=3 =>a9=1 (1 przykiad) a2=1 a4=3 =>a9%=2 (1 przykfad)
a2=4 a8=2 =>a9%=1 (1 przykiad) a2=]1 a6=3 =>a9=2 (1 przyktad)
al=3 =>2a9=1 (1 przyktad) a2=1 a8=2 =>a9%=2 (1 przykiad)
a3=4 =>a%=1 (1 przykiad) a3=1 a6=3 =>a%=2 (1 przykiad)
ad=1 =>2a9=1 (2 przyklady) a4=3 a6=3 =>a9=2 (1 przyklad)
a6=1 =>a%9=1 (2 przyklady) al=1 a5=3 =>a%=2 (1 przykiad)
a8=3 =>a%=1 (2 przyklady) a3=1 a5=3 =>a9%=2 (1 przyktad)

=3 =>a9=1 (2 przyklady) a4=3 a5=3 =>a9=2 (1 przyktad)
a7=5 =>a9=1 (1 przykiad) a5=3 a6=3 =>a9=2 (1 przyktad)
al=4 =>a9%=1 (1 przykiad) a5=3 a8=2 =>a9=2 (1 przyklad)
a2=1 a3=3 =>a9%=1 (1 przykiad) a7=4 =>a9=2 (1 przyklad)
a3=3 a5=3 =>a9%=1 (1 przyklad)

PRZYPADEK 1.2

Cecha decyzyjna: Cecha 9
Cechy niezalezne: Cecha 1, Cecha 2, Cecha 3, Cecha 4, Cecha 5, Cecha 6, Cecha 7, Cecha 8,

Cecha 10, Cecha 11, Cecha 12

Znaleziono 20 reduktéow Cechy - czestotliwo$é wystepowania cech w reduktach
reduktl: 12 1 3

redukt2: 13 11 8 (edukacja i nauka)
redukt3: 1511 3 6 (podatki)

redukt4: 2 3 4 2

redukt5: 2 4 5 5 (zdrowie)

redukt6: 2 7 6 2

redukt7: 2 8 7 2

redukt8: 2 10 8 3

redukt9: 2 6 10 3

redukt10: 2 12 11 12 (charyzmatyczny lider)
reduktll:3 511 12 3

redukt12:3 811
reduktl3:3 10 11
redukt14:3 11 12
redukt15:4 11
reduktl6: 5811
redukt17: 51011
redukt18: 511 12
reduktl9: 6 11
redukt20: 7 11

Znaleziono 3 reguly:

al2=1 =>a%9=1 (4 przyklady)
a2=3 =>2a9=1 (2 przyklady)
a6=3 all=0 =>a9=2 (2 przyklady)

Powyzsze reguly mozna zapisa¢ w sposob przedstawiony ponizej.




[prowadzenie kampanii wyborczej = widoczna] ~ => [a9=1]; q=0.500
[edukacja i nauka = zahamowanie likwidacji szk6t wiejskich i wyzszych szkot zawodowych w
mniejszych miastach] =>[a9 = 1]; q=0.250]

[rolnictwo i polityka regionalna = rozwijanie na wsi dziatalnosci pozarolniczej i inwestycje
infrastrukturalne] A [charyzmatyczny lider = brak] =>[a9 = 2]; q=0.250]

Wszystkie znalezione reguly (69):

az2=2 =>a9=1 (2 przyktady) |al=2 a2=4 =>a%9=2 (1 przykiad)
a3=2 =>a9=1 (2 przyklady) [a2=4 a3=3 =>a9=2 (1 przykfad)
a4=2 =>a9=1 (2 przyklady) |a2=4 a4=4 =>a9=2 (1 przykiad)
a5=2 =>a9=1 (4 przyklady) [a2=4 a5=1 =>a9=2 (1 przykiad)
a7=1 =>a9=1 (2 przyklady) |a2=4 a6=3 =>a9=2 (1 przyktad)
all=1 =>a%9=1 (4 przyklady) |a2=4 a7=2 =>a9=2 (1 przyklad)
al2=1 =>a9=1 (4 przyklady) |a2=4 a8=1 =>a9=2 (1 przykiad)

al=1 a2=4 =>a9%=1 (1 przyklad) |a2=4 alO=1 =>a9=2 (1 przyklad)
a2=4 a3=1 =>a%=1 (1 przyklad) |a2=4 all=0 =>a9=2 (1 przyklad)

a2=4 a4=3 =>a%=1 (1 przyktad) |al=2 a3=3 all=0 =>a9=2 (1 przyklad)
a6=2 =>a9=1 (2 przykiady) |a3=3 a8=1 all=0 =>a9=2 (| przykiad)
a7=3 =>2a9=1 (1 przyktad) |[a3=3 alO=1 all=0 =>a9=2 (1 przykiad)
a2=4 a8=2 =>a9=1 (1 przyktad) [a3=3 all=0 al2=0 =>2a9=2 (1 przykiad)
al0=0 =>a9=1 (3 przyklady) |ad4=4 all=0 =>a9=2 (1 przykiad)
al=3 =>a9=1 (1 przyktad) |[a5=1 all=0 =>2a%9=2 (1 przykiad)
a3= =>2a9=1 (1 przyklad) |a6=3 all=0 =>2a9=2 (2 przyklady)
ad4=1 =>a9=1 (2 przykiady) |a7=2 all=0 =>a9=2 (1 przykiad)

a6=1 =>2a9=1 (2 przykfady) |a2=4 al2=0 =>a9=2 (1 przyklad)

a8=3 =>a9=1 (2 przyklady) [al=1 a2=1 =>a9=2 (1 przykiad)

a2= =>a9=1 (2 przykiady) =1 a3=1 =>a9=2 (1 przykiad)

a7=5 =>a9=1 (1 przyktad) |a2=1 a4=3 =>a9=2 (1 przyklad)

al=4 =>a9=1 (1 przykiad) =1 a6=3 =>a9%=2 (1 przyklad)

a2=1 a3=3 =>a9%=1 (1 przyklad) |[a2=1 a8=2 =>a9=2 (1 przykiad)
a3=3 a5=3 =>a9%=1 (1 przyklad) [a2=1 alO=1 =>a9=2 (1 przykiad)

=1 al2=0 =>a%9=2 (1 przykiad)
a3=1 a6=3 =>a%9=2 (| przykiad)
a3=1 al0=1 =>a9=2 (1 przykiad)
a4=3 a6=3 =>a9=2 (1 przyklad)
a4=3 al0=1 =>a9%=2 (1 przykiad)
al=1 a5=3 =>a9%9=2 (| przykiad)
a3=1 a5=3 =>a9=2 (1 przykiad)
a4=3 a5=3 =>a9=2 (| przykifad)
a5=3 a6=3 =>a%9=2 (1 przykiad)
a5=3 a8=2 =>a9=2 (1 przykiad)
a5=3 al0=1 =>a9=2 (1 przyklad)
a5=3 al2=0 =>a9%=2 (1 przykiad)
a7=4 =>a9=2 (1 przykiad)
al=1 all=0 =>a9=2 (1 przyklad)
a3=1 all=0 =>a9=2 (1 przykiad)
a4=3 all=0 =>a9=2 (1 przyklad)
a8=2 all=0 =>2a9=2 (1 przykiad)
al=1 al2=0 =>a9=2 (1 przykiad)




a3=1 al2=0 =>a9=2 (1 przykiad)
a4=3 al2=0 =>a9=2 (/1 przykiad)
a8=2 al2=0 =>a%9=2 (1 przyklad)

ZAGADNIENIE 2.

Roéznice programowe pomigdzy SLD_UP a pozostalymi partiami.
Cecha 9-ta decyzyjna: {1 - SLD_UP, 2 — inne partie}

PRZYPADEK 2.1

Cecha decyzyjna: Cecha 9

Cechy niezalezne: Cecha 1, Cecha 2, Cecha 3, Cecha 4, Cecha 5, Cecha 6, Cecha 7, Cecha 8

Znaleziono 19 reduktéw

redukt 1: 12
redukt 2: 13
redukt 3: 14
redukt4: 17
redukt 5:2 3
redukt 6: 2 4
redukt 7: 2 7
redukt 8: 2 8
redukt 9: 2 6
redukt 10: 3 7
redukt 11:3 8
redukt 12:3 6
redukt 13:4 7
redukt 14: 4 8
redukt 15:4 6
redukt 16: 5 6
redukt 17: 57
redukt 18: 6 7
redukt 19: 7 8

0NN D WN -

Cechy - czestotliwo$é wystepowania cech w reduktach

(edukacja i nauka)

(bezpieczenstwo)
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Znaleziono 5 regul:
a7=1 a8=2 =>a9%=1 (1 przykl)

a7=3 =>a%=2 (1 przykl)
a8=3 =>2a9=2 (2 przykl)
a8=1 =>a9=2 (3 przyklady )
a5=3 =>a9=2 (2 przykl.)

Wszystkie znalezione reguly (41):

al=1 a2=2 =>a9%9=1 (1 przykl)
a2=2 a8=2 =>a9%=1 (1 przykl)
al=1 a3=2 =>a%=1 (1 przykl)
a2=2 a3=2 =>a%=1 (1 przykl)

a2=4 =>a9=2 (2 przyktl)
a3=1 =>a9%=2 (2 przykl)
ad4=3 =>a9=2 (2 przykt)
a6=2 =>a9=2 (2 przykt.)




a3=2 a8=2 =>a9%=1 (I przykt) a7=3 =>a9%=2 (1 przykl)
al=1 a4=2 =>a9%=1 (1 przykt) al=3 =>a9=2 (I przyki)
a2=2 a4=2 =>a9%=1 (1 przykt) a3=4 =>a9%=2 (1 przykt)
a4=2 a8=2 =>a%=1 (1 przykl.) a4=1 =>a9=2 (2 przykl.)
=2 a6=3 =>a9%=1 (1 przykt) a6=1 =>a9%=2 (2 przykl.)
a3=2 a6=3 =>a9%=1 (1 przykt) a7=2 =>a9%=2 (3 przykiady )
ad4=2 a6=3 =>a9=1 (1 przykl.) a8=3 =>a9=2 (2 przyktl.)
a5=2 a6=3 =>a%=1 (1 przykl.) al=2 =>a9=2 (3 przykfady )
a6=3 a7=1 =>a%=1 (1 przykl.) a2=3 =>a9=2 (2 przykt.)
al=1 a7=1 =>a9%=1 (1 przykl.) a3=3 =>a9=2 (3 przyklady)
a2=2 a7=1 =>a%=1 (1 przykl) a4=4 =>a9=2 (2 przykl.)
a3=2 a7=1 =>a%=1 (1 przykt.) a5=1 =>a9=2 (2 przykl.)
a4=2 a7=1 =>a9%=1 (1 przykt) a8=1 =>a9=2 (3 przykiady)
a5=2 a7=1 =>a9%=1 (I przykt) a7=5 =>a9=2 (1 przyki.)
a7=1 a8=2 =>a9%=1 (1 przykt) al=4 =>a9=2 (I przykl)
a2=1 =>a9=2 (2 przyki.)
a5=3 =>a9=2 (2 przykt)
a7=4 =>a%=2 (1 przykl)
PRZYPADEK 2.2

Cecha decyzyjna: Cecha 9

Cechy niezalezne: Cecha 1, Cecha 2, Cecha 3, Cecha 4, Cecha 5, Cecha 6, Cecha 7, Cecha 8,
Cecha 10, Cecha 11, Cecha 12

Znaleziono 35 reduktow

redukt 1: 12
redukt 2: 13
redukt 3: 1 4

redukt 4: 1510
redukt 5: 1611

redukt 6: 17

redukt 7: 1 10 11

redukt 8:2 3
redukt 9: 2 4
redukt 10: 2 7
redukt 11:2 8
redukt 12: 2 10
redukt 13:2 6
redukt 14:3 7
redukt 15:3 8
redukt 16:3 6
redukt 17: 3 12
redukt 18:3 11
redukt 19:4 7
redukt 20: 4 8
redukt 21: 4 6
redukt 22: 4 12
redukt 23: 4 11

Cechy — czestotliwo$¢ wystepowania cech w redukcie

1 7
2 7
3 7
4 7
5 5
6 8
7 9
8 7
10 8
11 8
12 4

(rolnictwo i polityka regionalna)
(bezpieczenstwo)

(do$wiadczenie w rzadzeniu)
(charyzmatyczny lider)




redukt 24: 5 6
redukt 25: 57
redukt 26: 5 8 10
redukt 27: 51011
redukt 28: 6 7
redukt 29: 6 8 11
redukt 30: 6 12
redukt 31: 7 8
redukt 32: 7 10
redukt 33: 7 11
redukt 34: 8 10 11
redukt 35: 10 12

Znaleziono 4 reguly:
al0o=1 al2=1 =>a9=1

(1 przykt.)

al0=0 =>a9=2 (3 przyktady)

a7=2 =>a9=2 (3 przykfady )

all=0 =>a9=2 (4 przykfady)

Wszystkie znalezione reguly (60

al=1 a2=2 =>a9=1 (1 przykl) a2=4 =>a9%=2 (2 przykt)
a2=2 a8=2 =>a9%=1 (1 przykl) a3=1 =>a9=2 (2 przykl)
al=1 a3=2 =>a%=1 (1 przyktl) a4=3 =>a9=2 (2 przykl)
a2=2 a3=2 =>a9%=1 (Il przykl) a6=2 =>a9%=2 (2 przyki.)
a3=2 a6=3 =>a9%=1 (1 przyktl) a7=3 =>a9=2 (1 przykt.)
a3=2 a8=2 =>a9%=1 (1 przykt) al0=0 =>a9=2 (3 przykiady )
a3=2 all=1 =>a9%=1 (1 przyktl) al=3 =>a9%=2 (1 przykl.)
a3=2 al2=1 =>a9%=1 (1 przykt) a3=4 =>a9=2 (1 przyki.)
al=1 a4=2 =>a9%=1 (1 przykl.) a4=1 =>a9=2 (2 przykl.)
a2=2 a4=2 =>a%=1 (1 przykt) a6=1 =>a9%=2 (2 przykt.)
a4=2 a6=3 =>a9=1 (1 przykl.) a7=2 =>a9%=2 (3 przykiady)
a4=2 a8=2 =>a9%=1 (1 przyktl.) a8=3 =>a9%=2 (2 przykt.)
a4=2 all=1 =>a9=1 (1 przykl) al=2 =>a9%=2 (3 przykifady)
a4=2 al2=1 =>a9%=1 (1 przyktl) a2=3 =>a%9=2 (2 przykt)
al=1 a6=3 all=1 =>a%=1 (I przykl) a3=3 =>a9%=2 (3 przykiady )
a2=2 a6=3 =>2a9%=1 (1 przykt.) a4=4 =>a9=2 (2 przykl)
a5=2 a6=3 =>2a9%=1 (I przykl.) a5=1 =>a9%=2 (2 przykl.)
a6=3 a8=2 all=1 =>a9%=1 (1 przyktl) a8=1 =>a9=2 (3 przykfady)
a6=3 al2=1 =>a9=1 (1 przykl.) al2=0 =>a9=2 (4 przyklady)
al=1 a7=1 =>2a9%=1 (1 przykl.) a7=5 =>a9%=2 (1 przyktl.)
a2=2 a7=1 =>2a9%=1 (1 przykl.) all=0 =>a9=2 (4 przyklady)
a3=2 a7=1 =>a%=1 (1 przykl) al=4 =>a9%=2 (1 przyki)
ad4=2 a7=1 =>a9%=1 (1 przyktl) a2=1 =>2a%=2 (2 przykt)
a5=2 a7=1 =>2a9%=1 (I przykl.) a5=3 =>a9=2 (2 przykt)
a6=3 a7=1 =>a9%=1 (1 przykl.) a7=4 =>a9=2 (1l przykl)
a7=1 a8=2 =>a9%=1 (1 przykl.)

a7=1 al0=1 =>2a9%=1 (1 przykl.)

a7=1 all=1 =>a9%=1 (I przykt.)




al=1 a5=2 alO=1 =>a9=1 (1 przykl)
al=1 al0=1 all=1 =>a9=1 (1 przykt)
a2=2 al0=1 =>2a9=1 (1 przykt)
a5=2 al0=1 all=1 =>a9%=1 (1 przykl)
a5=2 a8=2 al0=1 =>a9%=1 (1 przykl)
a8=2 al0=1 all=1 =>a9%=1 (1 przykl)
al0=1 al2=1 =>a9=1 (1 przykl.)
ZAGADNIENIE 3.

Réznice programowe pomigdzy SLD_UP a pozostalymi partiami ktére uzyskaly mandaty do
Sejmu w 2001 oraz partiami, ktore nie weszly do Sejmu.
Cecha 9-ta decyzyjna: {1 - SLD_UP, 2 — inne partie ktore weszly do Sejmu, 3- partie,

ktére nie weszly}

Cecha decyzyjna: Cecha 9

PRZYPADEK 3.1

Cechy niezalezne: cecha 1, cecha 2, cecha 3, cecha 4, cecha 5, cecha 6, cecha 7, cecha 8

Znaleziono 6 reduktéw Cecha — czestotliwo$¢ cech w reduktach
redukt 1: 12 1 1
redukt2:23 2 6 (edukacja i nauka)
redukt 3: 2 4 3 1
redukt 4:2 7 i 1
redukt 5: 2 8 6 1
redukt 6: 2 6 7 1

8 1
Znaleziono 6 regul
a7=1 a8=2 =>a9%=1 (1 przykt)
a7=3 =>2a9=2 (1 przykl.)
a8=3 =>a9=2 (2 przykt)
a2=3 =>a9=2 (2 przykt)
a2=4 a8=1 =>a9%=3 (1 przykl)
a7=4 =>a9=3 (1 przykl.)
Wszystkie znalezione reguly (69
al=1a2=2 =>a9%=1 (1 prz.) al=1 a2=4 =>a%9=2 (1 przykl)|al=2 a2=4 =>2a9=3 (1 prz.)
a2=2 a8=2=>a9=1 (1prz) |a2=4 a5=2 =>a9=2 (1 przykl)|a2=4 a3=3 =>a9=3 (1 prz.)
al=1 a3=2 =>a9%=1 (1 prz.) a2=4 a8=2 =>a%9=2 (1 przykl)|a2=4 ad=4 =>a9=3 (1 prz.)
a2=2 a3=2 =>a%=1 (1 przykl) [a2=4 a3=1 =>a9=2 (1 przykl)|a2=4 a5=1=>a9=3 (1 przykl.)
a3=2 a8=2 =>a9=1 (1 przykl.) [a3=1 a5=2 =>a9=2 (1 przykl)|a2=4 a6=3 =>a9=3 (1 przykl)
al=1 a4=2 =>a9%=1 (1 przykl.) |a2=4 a4=3 =>a9=2 (I przykl)|a2=4 a7=2 =>a9=3 (I przykl.)
a2=2 a4=2 => a9=1 (1 przykl.) |a4=3 a5=2 =>a9=2 (1 przykl)|a2=4 a8=1 =>a9=3 (I przykl.)
a4=2 a8=2 =>a9=1 (1 przykl.) [a6=2  =>a%9=2 (2 przyklady ) |al=1 a2=1 =>a9=3 (I przyki.)
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a2=2 a6=3 => a9%=1 (1 przykt.)
a3=2 a6=3 => a9=1 (1 przykt.)
a4=2 a6=3 => a9=1 (1 przykt.)
a5=2 a6=3 => a9=1 (1 przykl.)
a6=3 a7=1 => a9=1 (1 przykt.)
al=1 a7=1=>a9=1 (1 przykt.)
a2=2 a7=1 => a9=1 (1 przykt.)
a3=2 a7=1=>a9=1 (1 przykt.)
a4=2 a7=1=>a9=1 (1 przykl.)
a5=2 a7=1 =>a9=1 (1 prz.)

a7=1 a8=2 => a9=1 (1 przykl.)

a7=3
al=3
a3=4
ad=1
a6=1
a2=2
a5=2
a8=3
a2=3
al=2
al=2
al=2
a7=5

=>2a%9=2 (1 przykt)
=>2a9=2 (1 przyktl)
=>2a9=2 (1 przykl)
=>a9=2 (2 przyklady )
=>a9=2 (2 przyklady)
a7=2 =>a%=2 (1 przyktl)
a7=2 =>a%=2 (1 przyktl)
=>a9=2 (2 przykiady )
=>a9=2 (2 przykfady )
a3=2 =>a9%=2 (1 przykt)
a4=2 =>a9%=2 (1 przykl)
a5=2 =>a%9=2 (1 przykt)
=>2a9=2 (1 przykt)

a2=1
a2=1
a2=1
a2=1
a3=1
ad4=3
al=1
a3=l1
a4=3

a3=1
a4=3
a6=3
a8=2
a6=3
a6=3
as=3
aS=3
a5=3

=>a9=3 (1 przykt.)
=>a9=3 (1 przykt.)
=>a9=3 (1 przykt.)
=>a9=3 (1 przykt.)
=>a9=3 (1 przyki.)
=>a9=3 (1 przykt.)
=>2a9=3 (1 przykl.)
=>a%9=3 (I przyki.)
=>2a9=3 (1 przykt.)
a5=3 a6=3 =>a9=3 (1 przykl.)
a5=3 a8=2 =>a9=3 (1 przyktl)
a7=4 => a9=3 (1 przykt.)

Cecha decyzyjna: Cecha 9

a3=2 a8=1 =>a%=2 (1 przykl)
ad4=2 a8=1 =>a9%9=2 (1 przykt)
a5=2 a8=1 =>a%=2 (1 przyki)
al=4 =>a9=2 (1 przykt.)
a2=1 a3=3 =>a9%=2 (I przykl)
a2=1 a7=1 =>a9=2 (1 przykt)
a3=3 a7=1 =>a9%=2 (I przykt)
a3=3 a5=3 =>a%=2 (1 przykl)
a5=3 a7=1 =>a%=2 (1 przykl)
PRZYPADEK 3.2

Cechy niezalezne: cecha 1, cecha 2, cecha 3, cecha 4, cecha 5, cecha 6, cecha 7, cecha 8, cecha

10, cecha 11, cecha 12

Znaleziono 20 reduktéw
redukt 1: 12
redukt 2: 13 11
redukt3: 16 11
redukt 4: 23
redukt 5: 2 4
redukt 6: 27
redukt 7: 2 8
redukt 8: 2 10
redukt 9: 2 6
redukt 10: 3511
redukt 11: 36 11
redukt 12: 3 8 11
redukt 13: 3 10 11
redukt 14: 3 11 12
redukt 15: 4 11
redukt 16: 56 11
redukt 17: 510 11
redukt 18: 68 11
redukt 19: 6 11 12
redukt 20: 7 11

Cecha — czestotliwosé cech w reduktach

1 3
2 7
3 7
4 2
5 3
6 6
7 2
8 3
10 3
11 13
12 2

(edukacja i nauka)
(podatki)

(charyzmatyczny lider)




Znaleziono 4 reguly

al0o=1 al2=1 =>a9%=1 (1 przyktl.)

al0=0 =>2a9=2 (3 przyklady )

a2=3 =>a9=2 (2 przykt)

a6=3 all=0 =>a9%=3 (2 przykt.)

Wszystkie znalezione reguly (136

al=1 a2=2 =>a9=1 (1 przykl)|al=1 a2=4 =>a9=2 (1 przykl)|al=2 a2=4 =>a9=3 (1 przykl)
a2=2 a8=2 =>a9%9=1 (1 przykl)|a2=4 a5=2 =>a9=2 (1 przykl)|a2=4 a3=3 =>a9=3 (Il przykl)
al=1 a3=2 =>a%=1 (1 przykl)|a2=4 a8=2 =>a9=2 (I przykl.)|a2=4 a4=4 =>a9=3 (I przykl)
a2=2 a3=2 =>a9%=1 (1 przykl)|a2=4 all=1 =>a9=2 (1 przykl)|a2=4 aS=1 =>a9=3 (I przyki)
a3=2 a6=3 =>a9=1 (1 przykl)|a2=4 al2=1 =>a9=2 (1 przykl.)|a2=4 a6=3 =>a9=3 (I przykl)
a3=2 a8=2 =>a9=1 (1 przykl)|a2=4 a3=1 =>a9=2 (1 przykl)|a2=4 a7=2 =>a9=3 (I przykt)
a3=2 all=1=>a9=1 (1 przykl)|a3=1 a5=2 =>a9=2 (1 przykt.)|a2=4 a8=1 =>a9=3 (I przykl.)
a3=2 al2=1 =>a9%=1 (1 przykl.) |a3=1 all=1 =>a9=2 (1 przykl.)|a2=4 alO=1 =>a9=3 (I przykl)
al=1 ad4=2 =>a9=1 (1 przykl) [a3=1 al2=1 =>a%9=2 (1 przykt.) |a2=4 all=0 =>a9=3 (I przykl.)
a2=2 a4=2 =>a9=1 (1 przykl) |a2=4 a4=3 =>a9=2 (I przykt.)|al=2 a3=3 all=0=>a9=3 (1 prz.)
a4=2 a6=3 =>a9=1 (1 przykl)|a4=3 a5=2 =>a9=2 (1 przykt.)|a3=3 a8=1 all=0=>a9=3 (1 prz.)
a4=2 a8=2 =>a9=1 (1 przykl)|a4=3 all=1 =>a9=2 (1 przykt.) |a3=3 al0=1 al1=0 =>a9=3 (lprz)
a4=2 all=1 =>a9=1 (1 przykt.) |a4=3 al2=1 =>a9=2 (1 przykt.) |a3=3 al11=0 al2=0 =>a9=3 (1prz)

a4=2 al2=1 =>a9=1 (1 przykt.)
al=1 a6=3 all=1 =>a%=1 (1prz.)
a2=2 a6=3 =>a9=1 (1 przykl.)
a5=2 a6=3 =>a9=1 (1 przykl)
a6=3 a8=2 all=1 =>a9%=1 (lprz.)

a6=3 al2=1=>a9=1 (1 przykl.)
al=1 a7=1 =>a9%=1 (1 przykl)
a2=2 a7=1 =>a9=1 (1 przykl.)
a3=2 a7=1 =>a9=1 (1 przykl.)
a4=2 a7=1 =>a9%=1 (1 przykl.)
a5=2 a7=1 =>a%=1 (1 przykt)
a6=3 a7=1 =>a%=1 (1 przykl)
a7=1 a8=2 =>a%=1 (1 przyktl)
a7=1 al0=1=>a9=1 (1 przykl)
a7=1 all=1 =>a9=1 (1 przykl)

al=1 a5=2 al0=1 =>a9=1 (1 prz)
al=1 al0=1 all=1=>a9=1 (1prz)
a2=2 al0=1 =>a9=1 (1 przykt.)
a5=2 al0=1 all=1=>a9=1 (1prz)
a5=2 a8=2 al0=1 =>a9%=1 (1 prz)
a8=2 al0=1 al1=1=>a9=1 (lprz)
al0=1 al2=1 => a9=1 (1 przykl.)

a6=2
a7=3
al0=0
al=3
a3=4
ad4=1
a6=1
a2=2
asS=2
a7=2
a7=2
a8=3
al=2

=>a9=2 ( 2 przykt.)
=>a9=2 (1 przykl.)
=>a9=2 (3 przykt.)
=>a9=2 (1 przykt.)
=>2a9=2 (1 przykt.)
=>a%9=2 (2 przykl)

=>a%9=2 (2 przykt)

a7=2 =>a%=2 (I przykt)
a7=2 =>a9=2 (1 przykt.)
all=1 =>a9=2 (2 przykt.)
al2=1 =>a9%=2 (1 przykt.)
=>a9=2 (2 przykt.)
all=1 =>a9=2 (1 przykt.)

a2=3 =>a9=2 (2 przykl)
a3=3 all=1 =>a9%=2 (1 przykt.)
a4=4 all=1 =>a9=2 (1 przyki.)
a5=1 all=1 =>a9=2 (1 przykt.)
a8=1 all=1 =>a9=2 (1 przykl.)
all=1 al2=0=> a9=2 (1 przykt.)
al=2 a3=2 =>a9%=2 (1 przykt)
al=2 a4=2 =>a9%9=2 (1 przykt)
al=2 a5=2 =>a9%=2 (1 przykl)
a7=5 =>a9=2 (1 przykt.)
a3=2 a8=1 =>a9=2 (1 przykt)
a4=2 a8=1 =>a9=2 (1 przykt)
a5=2 a8=1 =>a9=2 (1 przykl)
a3=2 all=0 =>a9%=2 (1 przyki.)

a4=4 all=0 =>a9=3 (I przykt.)
a5=1 all=0 =>2a9=3 (1 przykt.)
a6=3 all=0 =>a%9=3 (2 przykt)
a7=2 all=0 =>a9%=3 (I przykt)
a2=4 al2=0 =>a9=3 (1 przyki)
al=1 a2=1 =>a9=3 (1 przykl.)
a2=1 a3=1 =>a9=3 (I przykl.)
a2=1 a4=3 =>a9=3 (I przykt.)
a2=1 a6=3 =>a9=3 (1 przykl.)
a2=1 a8=2 =>a9%9=3 (I przykl.)
a2=1 al0=1 =>a9=3 (I przykl.)
a2=1 al2=0 =>a9%=3 (| przykl.)
a3=1 a6=3 =>a9=3 (! przykl)
a3=1 al0=1 =>a9%=3 (I przykl.)
ad4=3 a6=3 =>a9=3 (| przyki)
a4=3 al0=1 =>a9=3 (I przykl.)

al=1 a5=3 =>a9=3 (Il przykl)

a3=1 a5=3 =>a9=3 (1 przykt)
a4=3 a5=3 =>a9=3 (1 przykl.)
a5=3 a6=3 =>a9%=3 (I przykl)
a5=3 a8=2 =>a9=3 (1 przykl)
a5=3 al0=1 =>a9=3 (1 przykl)
a5=3 al2=0 =>a9=3 (I przykl)
a7=4 =>a9=3 (I przykl.)
al=1 all=0 =>a9=3 (1 przykl.)
a3=1 all=0 =>a9=3 (I przykl)

a4=3 all=0 =>a9=3 (I przykl.)

2
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a4=2
a5=2
a3=2
ad=2
as=2
al=4
a2=1
a2=1
a2=1
a3=3
a3=3
a3=3
as5=3
a5=3
a7=1

all=0al2=1

all=0
all=0
al2=0
al2=0
al2=0

a3=3
a7=1
al2=1
a7=1
al2=1
as=3
a7=1
al2=1
all1=0

=>a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykl.)
=>2a9=2 (1 przykt.)
=>2a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>2a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>2a9=2 (1 przykt.)
=>a9%9=2 (1 przyki.)
=>2a9=2 (1 przykt.)
=>2a9=2 (1 przykt.)
=>a9=2 (1 przyki.)

a8=2
al=1
a3=1
a4=3
a8=2

all=0
al2=0
al2=0
al2=0
al2=0

=>2a9=3 (1 przykl.)
=>a9=3 (1 przykl.)
=>a9=3 (1 przykl.)
=>a9=3 (1 przykl.)
=>a9=3 (I przykl.)

ZAGADNIENIE 4.

Réznice programowe pomigdzy oSmioma partiami
Cecha 9-ta decyzyjna: {1 - SLD_UP, 2 - PO, ..., 8 - UW}

Cecha decyzyjna: Cecha 9
Cechy niezalezne: cecha 1, cecha 2, cecha 3, cecha 4, cecha 5, cecha 6, cecha 7, cecha 8

PRZYPADEK 4.1

Znaleziono 6 reduktéw.

redukt 1: 24
redukt2: 125
redukt 3: 23
redukt 4: 2 7
redukt 5:25 8
redukt 6: 2 6

Cecha — czestotliwosé cech w reduktach

1

PN N A WN
—_——— N = = O\

(edukacja i nauka)

Znaleziono 8 regul:

a7=1 a8=2 =>a9%=1
a7=3 =>a%9=2
a3=4 =>a9=3
a2=3 a7=2 =>a9%=4
a7=5 =>a9=5
al=4 =>a9=6
a2=4 a8=1 =>a9=7
a7=4 => a9=8

Wszystkie znalezione regu

(1 przykt.)
(1 przykt)
(1 przykt)
(1 przykt.)
(1 przykt.)
(1 przykt.)
(1 przykt)
(1 przykt.)

107):




al=1 a2=2 =>a9=1 (1 przykl.) |al=1a2=4=>2a9=2 (1 przykl) [al=3  =>a9=3 (I przyki)
a2=2 a8=2 =>a9=1 (1 przykl.) |a2=4 a5=2 =>a9%=2 (1 przykl.) |a3=4  =>a9=3 (1 przyki)
al=1 a3=2 =>a9=1 (1 przykl) [a2=4 a6=2=>a9=2 (1 przykl) |a2=2 a4=1=>2a9=3 (1 przykl.)
a2=2 a3=2 =>a9=1 (1 przykl.) |a2=4 a8=2=>a9=2 (1 przykl) |a4=1 a5=2 =>a9=3 (1 przykt.)
a3=2 a8=2 =>a9=1 (1 przykl) [a2=4 a3=1=>a9=2 (1 przykl) [ad4=1 a6=1 =>a9=3 (1 przykl.)
al=1 a4=2 =>a9=1 (1 przykl.) [a3=1 a5=2=>a9=2 (1 przykl) |ad4=1 a7=2 =>a9=3 (1 przykl)
a2=2 a4=2 =>a9=1 (1 przykl) |a3=1 a6=2=>a%9=2 (1 przykl.) |a2=2 a6=1 =>a9=3 (1 przyki.)
ad4=2 a8=2 =>a9=1 (1 przykl) |a2=4 a4=3 =>a9=2 (1 przykl) |a6=1 a7=2 =>a9=3 (I przykl.)
a2=2 a6=3 =>a9=1 (1 przykl) [a4=3 a5=2=>a9=2 (1 przykl) |[a2=2 a7=2 =>a9=3 (1 przyki.)
a3=2 a6=3 =>a9=1 (1 przykl) [a4=3 a6=2=>a9=2 (1 przykl) [a5=2 a7=2 =>a%9=3 (1 przykl.)
a4=2 a6=3 =>a9=1 (1 przykl.) [al=1 a6=2=>a9=2 (1 przykt) [a2=2 a8=3 =>a9=3 (1 przykl.)
a5=2 a6=3 =>a9=1 (1 przykl) [a5=2 a6=2 =>a9=2 (1 przykl.) |a5=2 a8=3 =>a9=3 (I przykl.)
a6=3 a7=1 =>a9=1 (1 przyktl) [a6=2 a8=2 =>a9=2 (1 przykt) |a6=1 a8=3 =>a9=3 (1 przyki.)
al=1 a7=1 =>a9%=1 (1 przykt) [a7=3 =>a9=2 (1 przykl.) |a7=2 a8=3 =>a9=3 (I przykl.)
a2=2 a7=1 =>a9%=1 (1 przykt.)
a3=2 a7=1 =>a9=1 (1 przykt.)
a4=2 a7=1 =>a9=1 (1 przykt))
a5=2 a7=1 =>a9=1 (1 przykt.)
a7=1 a8=2 =>a9=1 (1 przykt.)
a2=3 a3=3 =>a9=4 (1 przykl) |al=2 a3=2=>a9=5 (1 przykl) |al=4 =>a9=6 (1 przykl.)
a2=3 ad4=4 =>a9=4 (1 przykl) [al=2 a4=2=>a9=5 (1 przykt) [a2=1 a3=3 =>a9=6 (1 przykt.)
a2=3 a5=1 =>a9=4 (1 przykl) |al=2 a5=2=>a9=5 (1 przykt) |[a2=1 a4=1 =>a9=6 (1 przykl.)
a2=3 a6=3 =>a9=4 (1 przykl) |al=2 a6=1=>a9=5 (1 przykt) [a2=1 a6=2 =>a9=6 (1 przykl.)
a2=3 a7=2 =>a9=4 (1 przykl) |a2=3 a3=2=>a9=5 (1 przykl) [a2=1 a7=1 =>a9=6 (1 przykl)
a2=3 a4=2 =>a9=5 (1 przykl.) |a2=1 a8=3 =>a9=6 (1 przyki.)
a2=3 a5=2 =>a9%=5 (1 przykl.) |a3=3 ad4=1 =>a9=6 (1 przykl.)
a2=3 a6=1 =>a9=5 (1 przykl) |a3=3 a6=2 =>a9=6 (1 przykl.)
a3=2 a6=1 =>a9=5 (1 przykl.) |a3=3 a7=1 =>a9=6 (I przyki.)
a4=2 a6=1 =>a9=5 (1 przykl.) |a3=3 a8=3 =>a9=6 (1 przykl.)
a7=5 =>a%=5 (1 przykl) ad=1 a6=2 =>a9%=6 (1 przykl.)
a3=2 a8=1=>a9=5 (1 przykl.) |a4=1 a7=1 =>a9=6 (| przykl.)
a4=2 a8=1 =>a9=5 (1 przykl) |a3=3 a5=3 =>a9=06 (I przyki.)
a5=2 a8=1=>2a9=5 (1 przykl) |ad4=1 a5=3 =>a9=6 (I przykl.)
a6=1 a8=1=>a9=5 (1 przykl.) |a5=3 a6=2 =>a9=6 (1 przykl.)
a5=3 a7=1 =>a9=6 (1 przykl.)
a5=3 a8=3 =>a9=6 (1 przykt.)
a6=2 a7=1 =>a9=6 (1 przykt.)
a6=2 a8=3 =>a9=6 (1 przykl.)
a7=1 a8=3 =>a9=6 (I przykl.)
al=2 a2=4 =>a9=7 (1 przykl) |al=1 a2=1 =>a9=8 (1 przykl.)
a2=4 a3=3 =>a9=7 (1 przykl) |a2=1 a3=1 =>a9=8 (1 przykl.)
a2=4 a4=4 =>a9=7 (1 przykl) [a2=1 a4=3 =>a9=8 (1 przykl.)
a2=4 a5=1 =>2a9=7 (1 przykl) |a2=1 a6=3 =>a9=8 (1 przykl.)
a2=4 a6=3 =>a9=7 (1 przykl) |a2=1 a8=2 =>a9=8 (1 przykl.)
a2=4 a7=2 =>a9=7 (1 przykl) |a3=1 a6=3 =>a9=8 (1 przyki.)
a2=4 a8=1 =>a9=7 (1 przykl) |a4=3 a6=3 =>a9=8 (1 przykl.)
al=1 a5=3 =>a9=8 (1 przyki.)
a3=1 a5=3 =>a9=8 (1 przykl.)
a4=3 a5=3 =>a9=8 (1 przyki.)
a5=3 a6=3 =>a9%=8 (1 przykl.)




a5=3 a8=2 =>a9=8 (1 przykl.)
a7=4 =>a9=8 (1 przykt)

PRZYPADEK 4.2

Cecha decyzyjna: Cecha 9
Cechy niezalezne: cecha 1, cecha 2, cecha 3, cecha 4, cecha 5, cecha 6, cecha 7, cecha 8, cecha

10, cecha 11, cecha 12

Znaleziono 29 reduktow:. Cecha — czestotliwo$¢ cech w reduktach

redukt 1:
redukt 2:
redukt 3:
redukt 4:
redukt 5:
redukt 6:
redukt 7:
redukt 8:
redukt 9:
redukt 10:
redukt 11:
redukt 12:
redukt 13:
redukt 14:
redukt 15:
redukt 16:
redukt 17:
redukt 18:
redukt 19:
redukt 20:
redukt 21:
redukt 22:
redukt 23:
redukt 24:
redukt 25:
redukt 26:
redukt 27:
redukt 28:
redukt 29:

24
125
1211
1311
151011
1611
1711
23

27
258
2510
26
2811
21011
3511
3611
3711
3811
31011
31112
411
5611
5711
581011
6711
6811
7811
71011
71112

6
10 (edukacja i nauka)

(charyzmatyczny lider)

Pl e ®NAUVNAWN —~
N oo o

Znaleziono 8 regul:

al0=1 al2=1 =>a9=1 (1 przyktl)
a7=3 =>2a9%=2 (1 przyktl)
a3=4 =>2a9=3 (1 przykl.)
all=1 al2=0 =>a9=4 (1 przyktl)
a7=5 =>a9%=5 (1 przykl)
al=4 =>2a9=6 (1 przykl.)
a2=4 al2=0 =>a9%=7 (1 przykl)
a7=4 =>a%9=8 (1 przykt)




Wszystkie znalezione reguly (202

al=1 a2=2 =>a9%=1 (1 przyktl.)

a2=2 a8=2 =>a9%=1 (1 przykl.)

al=1 a3=2 =>a9=1 (1 przykt.)

a2=2 a3=2 =>a9%=1 (1 przykl)
a3=2 a6=3 =>a%=1 (1 przykt)
a3=2 a8=2 =>a9%9=1 (I przykl.)
a3=2 all=1=>a9%=1 (1 przykl)

a3=2 al2=1 =>a9%=1 (1 przykl)
al=1 a4=2 =>a9=1 (1 przykl)
a2=2 ad4=2 =>a9%=1 (1 przykl.)
a4=2 a6=3 =>a%=1 (1 przykl)
a4=2 a8=2 =>a9%=1 (1 przyki)
a4=2 all=1 =>a9%=1 (1 przykl)
a4=2 al2=1 =>a9=1 (1 przykt)
al=1 a6=3 al1=1=>a9=1 (1 prz.)
a2=2 a6=3 =>a9%=1 (1 przykt.)
a5=2 a6=3 =>a9%=1 (1 przykl)
a6=3 a8=2 all=1=>a%=1 (1 prz.)

a6=3 al2=1 =>a%=1 (1 przykt)
al=1 a7=1 =>a9=1 (1 przykl)
a2=2 a7=1 =>a9%=1 (1przykt)
a3=2 a7=1 =>a9%=1 (1 przykl)
ad4=2 a7=1 =>a9%=1 (1 przykl)
a5=2 a7=1 =>a9%=1 (1 przykt)
a6=3 a7=1 =>a9=1 (1 przyktl)
a7=1 a8=2 =>a9%=1 (1 przykl)

a7=1 al0=1 =>a9%=1 (1 przykl)
a7=1 all=1 =>a9=1 (1 przykl)
al=1 a5=2 al0=1 =>a%=1 (1 prz.)
al=1al0=1 all=1=>a9=1 (1 prz.)
a2=2 al0=1 =>a9=1 (1 przykt.)
a5=2 al0=1 all=1 =>a9%=1 (1 prz)
a5=2 a8=2 al0=1 =>a9%=1 (1 prz.)
a8=2 al0=1 all=1=>a9%=1 (1 prz)
al0=1 al2=1 =>a9%9=1 (1 przyktl.)

al=1 a2=4 => a9=2 (1 przykl.)

a2=4
a2=4
a2=4

a2=4 al0=0

a5=2
a6=2
a8=2

=>2a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykt)

a2=4 all=1=>a9%=2 (1 przykl.)

a2=4 al2=1

a2=4

a3=1 a5=2

a3=1

a3=1 al0=0

=>a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>2a9=2 (1 przykt.)
=>2a9=2 (1 przykl.)
=>a9=2 (1 przykt.)

a3=1

a6=2

a3=1 all=1=>a9%=2 (1 przykt.)

a3=1al2=1

a2=4
a4=3

a4=3 a6=2
a4=3 al0=0
a4=3 al1=1
a4=3 al2=1
al=1 a6=2

as5=2
a6=2

=>2a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykl.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykl.)
=>a9=2 (1 przykt.)
=>a9=2 (1 przykt.)
=>2a9=2 (1 przykt.)
=>a9=2 (1 przykl.)

a4=3
a5=2

a6=2
a8=2

a6=2 all=1=>a9=2 (1 przykl.)

a7=3

=>2a9=2 (1 przykt.)

al=1al0=0=>a9=2 (1 przykl.)
a8=2 al0=0 => a9=2 (1 przykt.)

al=3 =>a9=3 (I przykl.)

a3=4 =>a%9=3 (1 przykl)
a2=2 ad4=1 =>a9=3 (1 przykl.)
a4=1 a5=2 =>a9%=3 (1 przykl.)
ad4=1 a6=1 =>a9=3 (1 przykt.)
a4=1 a7=2 =>a9=3 (1 przykl.)
a4=1 all=1=>a9=3 (1 przykt.)
a2=2 a6=1 =>a9=3 (1 przykl.)
a6=1 a7=2 => a9=3 (1 przykl.)
a6=1al0=0 => a9=3 (1 przykl.)
a6=1 all=1=>a9=3 (1 przyki.)
a6=1 al2=1 => a9=3 (1 przykl.)
a2=2 a7=2 =>a%=3 (1 przykl.)
a5=2 a7=2 =>a9=3 (| przykl.)
a7=2 al0=0 => a9=3 (1 przykl.)
a7=2 al2=1 =>a9=3 (1 przykl.)
a2=2 a8=3 =>a9=3 (l przykt.)
a5=2 a8=3 =>a9=3 (1 przykl.)
a6=1 a8=3 =>a9=3 (1 przykl)
a7=2 a8=3 =>a9=3 (1 przykl.)
a8=3 all=1=>a9=3 (1 przykt.)
a2=2 a10=0 => a9=3 (1 przykt.)

al=2 all=1 =>a9%=4 (1 przykl.)
a2=3 a6=3 =>a9%=4 (1 przykt.)
a2=3 a7=2 =>a9%=4 (1 przykt)
a2=3 all=1 =>a9%=4 (1 przykl.)
a2=3 a3=3 =>a9%=4 (1 przykt)
a3=3 all=1 =>a9%=4 (1 przykl)
a2=3 a4=4 =>a9=4 (1 przykl)
ad4=4 all=1 =>a9=4 (1 przykl.)
a2=3 a5=1 =>a9%=4 (1 przykl)
a5=1 all=1 =>a9%=4 (1 przykl.)
a6=3 a7=2 all=1 =>a9%=4 (1 prz.)
a7=2 al0=1 all=1 =>a9=4 (1 prz)
a8=1 all=1 =>a9=4 (1 przykl.)
all=1 al2=0 =>a9=4 (1 przykl.)

al=2
al=2
al=2
al=2
a2=3
a2=3
a2=3
a2=3
a3=2
a4=2

a3=2 =>a9%=5 (1 przykl.)
a4=2 =>a9=5 (1 przykt.)
a5=2 =>a9=5 (1 przykt.)
a6=1 =>a9%=5 (1 przykt.)
a3=2 =>a9=5 (1 przykl.)
a4=2 =>a9=5 (1 przykt.)
a5=2 =>a9=5 (1 przykt.)
a6=1 =>a9%=5 (1 przykt.)
a6=1 =>a9=5 (1 przykt.)
a6=1 =>a9=5 (1 przykl.)

a6=1 al0=1 => a9=5 (1 przykt.)

a7=5
a3=2
a4=2

=>2a9%=5 (1 przykt)
a8=1 =>a9=5 (1 przykt.)
a8=1 =>a9=5 (1 przykl.)

al=4
a2=1
a2=1
a2=|

=>a9=6 (1 przykl.)

a3=3 =>a9=6 (I przykt.)
ad=1 =>a9=6 (1 przykt.)
a6=2 =>a9=0 (I przyki.)
a2=1 a7=1 =>a9%=6 (1 przykl.)
a2=1 a8=3 =>a9=6 (I przyki.)
a2=1 al0=0 => a9=6 (1 przykl.)
a2=1 al2=1 =>a9%=6 (1 przykl.)
a3=3 ad4=1=>a9=6 (I przykl.)
a3=3 a6=2 =>a9=6 (1 przykl.)
a3=3 a7=1 =>a9%=06 (1 przykl.)
a3=3 a8=3 =>a9=6 (1 przykl.)
a3=3 al0=0 => a9=06 (1 przykl.)
a3=3 al2=1 =>a9=6 (I przykl.) |
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a5=2 a8=1 =>a9=5 (1 przykl.)
a6=1 a8=1 =>a9=5 (1 przykl.)
a2=3 al1=0 => a9=5 (1 przykt.)
a3=2 al1=0 => a9=5 (1 przykt.)
a4=2 al1=0 => a9=5 (1 przykt.)
a5=2 al1=0 =>a9=5 (1 przykt.)
a6=1 al1=0 => a9=5 (1 przykt.)
a3=2 al2=0 => a9=>5 (1 przykt.)
a4=2 al2=0 => a9=5 (1 przykt.)
a5=2 al2=0 => a9=5 (1 przykl.)
a6=1 al12=0 => a9=5 (1 przykl.)

ad4=1
ad4=1
a3=3
ad4=1
as=3

a6=2
a7=1
a5=3
a5=3
a6=2

=>a9=06 (1 przykt.)
=>a9=6 (1 przykl.)
=>a9=6 (1 przykt.)
=>2a9=6 (1 przykt.)
=>2a9=6 (1 przykl.)
a5=3 a7=1 =>a9=6 (1 przykt.)
a5=3 a8=3 =>a9=6 (1 przykt.)
a5=3 al0=0 => a9=6 (1 przyki.)
a5=3 al2=1 => a9=6 (1 przyki.)
a6=2 a7=1 =>a9%=6 (1 przykl.)
a6=2 a8=3 =>a9=6 (I przykl.)
a7=1 a8=3 =>a9%=6 (1 przykt.)
a7=12al10=0 => a9=6 (| przykt.)
ad=1 al1=0 => a9=6 (1 przykl)
a6=2 al =0 => a9=6 (| przykt.)
a7=1 al 1=0 => a%9=0 (| przykl.)
a8=3 al1=0 => a9=06 (1 przykt.)
al0=0 all=0=>a9=6 (I prz.)

all1=0al2=] =>a9=6 (I prz.)

al=2 a2=4 =>a9=7 (1 przykl)
a2=4 a3=3 =>a9=7 (1 przykl)
a2=4 a4=4 =>a9=7 (1 przykl)
a2=4 a5=1 =>a9%=7 (1 przyktl)
a2=4 a6=3 =>a9%=7 (1 przykl)
a2=4 a7=2 =>a%=7 (1 przykl)
a2=4 a8=1 =>a9=7 (1 przyktl)
a2=4 al0=1 =>a9=7 (1 przykl)
a2=4 all=0 =>a9=7 (1 przykl.)

al=2 a3=3 al1=0 => a9=7 (1 prz.)
a3=3 a8=1 all=0=>a9=7 (1 prz.)
a3=3 al0=1 al1=0 => a9=7 (1prz)
a3=3 al1=0 al12=0 => a9=7 (1prz)
a4=4 all=0 =>a9=7 (1 przykl)
a5=1 all=0 =>a9=7 (1 przykt.)
al=2 a6=3 al1=0 => a9=7 (1 prz.)
a3=3 a6=3 al1=0 => a9%=7 (1 prz.)
a6=3 a8=1 al1=0 =>a9=7 (1 prz.)
a7=2 all=0 =>a9=7 (1 przyktl.)
a2=4 al2=0 =>a9=7 (1 przykt.)

al=1 a2=1
a2=1 a3=1
a2=1 a4=3
a2=1 a6=3
a2=1 a8=2
a2=1 al0=1
a3=1 a6=3
a3=1 al0=1
ad4=3 a6=3
a4=3 al0=1
al=1 a5=3
a3=1 a5=3
a4=3 a5=3

=>a9=8 (1 przykt.)
=>2a9=8 (1 przykl.)
=>a9=8 (1 przykt.)
=>a9=8 (1 przykt.)
=>a9=8 (1 przykl.)
=>a9=8 (1 przykt.)
=>a9=8 (1 przykl.)
=>a9=8 (1 przykt.)
=>a9=8 (1 przykl.)
=>a9=8 (1 przykt)
=>2a9=8 (1 przykt.)
=> a9=8 (1 przykt.)
=>a9=8 (1 przykt.)
a5=3 a6=3 =>a9=8 (1 przykt.)
a5=3 a8=2 =>a9=8 (1 przykt)
a5=3 al0=1=>a9=8 (1 przykt.)
a7=4 =>a%=8 (1 przykl)

al=1all=0=>a9=8 (1 przyk}.)
a3=1 all=0 => a9=8 (1 przykt.)
a4=3 al1=0 => a9=8 (1 przykt.)
a8=2 al1=0 => a9=8 (1 przykt.)
al=1 al2=0=>a9=8 (1 przykt.)
a2=1 al2=0 => a9=8 (1 przykt.)
a3=1 al2=0 =>a9=8 (1 przykt.)
a4=3 al2=0 => a9=8 (1 przykl.)
a5=3 al2=0 => a9=8 (1 przykt.)
a8=2 al2=0 => a9=8 (1 przykl.)




WNIOSKI

Uwzgledniajac w obliczeniach oprocz deklaracji programowych partii réwniez wybrane dodatkowe
cechy, takie jak doéwiadczenie partii w rzadzeniu, istnienie charyzmatycznego lidera oraz sposob
prowadzenia kampanii wyborczej, otrzymano w rozpatrywanych zagadnieniach (zagadnienie 1, 2 i
3) krétsze reguly decyzyjne, o wigkszym wspoiczynniku sity.

Ponizej przedstawiono cechy najczesciej wystepujace w zbiorach reduktow, tworzonych we
wszystkich rozpatrywanych zagadnieniach. Nalezy pamigta¢, ze czestosci te nie sq rOwnowazne

waznosci kazdej z rozwazanych cech w zadaniu klasyfikacji.

ZAGADNIENIE 1. wejscie lub nie do Sejmu 2001

rzypadeklAl i PrzypadeklZ i
edukacja i nauka; 6 charyzmatyczny lider; 12
edukacja i nauka; 8
podatki; 6
zdrowie; 5

ZAGADNIENIE 2. przynaleznosc do SLD_UP lub innych partii

padek -5 ‘Przypadek 2.2
bezpieczenstwo; 7 bezpleczenstwo 9 charyzmatyczny lider; 8
edukacja i nauka; 6 rolnictwo i polityka regionalna;8
charyzmatyczny lider; 8

ZAGADNIENIE 3. przynaleznos¢ do SLD_UP, do innych partii ktore weszly do Sejmu lub do tych
partii, ktore nie weszly

: e O T TR D

edukac;a i nauka; 6 charyzmatyczny lider; 13

edukacja i nauka; 7
podatki; 7

ZAGADNIENIE 4. przynaleznos¢ do poszczegolnych partii

Y siii i Przypadek 4.2
edukacja i nauka; 6 charyzmatyczny lider; 22
edukacja i nauka; 10

Ponizej przedstawiono liczbg utworzonych regut / liczbe warunkéow w regutach, we
wszystkich rozpatrywanych zagadnieniach. Ponizej wymieniono liczb¢ regut o najwigkszym
wspotczynniku sily, w utworzonym zbiorze wszystkich regut.

ZAGADNIENIE 1. wejscie lub nie do Sejmu 2001

Przypadek 1.1 P Przypadek 1.2 !
5 regut / 6 warunkow 3 reguly / 4 warunki |
1 reguta ¢=0.500 3 reguty ¢=0.500 ]




ZAGADNIENIE 2. przynaleznos¢ do SLD_UP lub innych partii

CPrzypadek21 o sit o o Przypadek 2.2
5 regut / 6 warunkow 4 reguly / 5 warunkow
4 reguly q=0.375 2 reguty q=0.500
5 regut ¢=0.375

ZAGADNIENIE 3. przynaleznos¢ do SLD _UP, do innych partii ktore weszly do Sejmu lub do
grupy partii ktore nie weszly

HPmypadelc S e Przypadek 3.2
6 regut / 8 warunkow 4 reguly / 6 warunkéw
5 regut q=0.250 1 reguta q=0.375

7 regut q=0.250

ZAGADNIENIE 4. przynaleznos$¢ do poszczegdlnych partii

Zypadek 4.

1 l'warunkbw 11 warunkow
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dodatkowych atrybutow w analizie kampanii wyborow do Sejmu w 2001r.

[3] Kacprzyk J., Szkatuta G. (1999) An inductive learning algorithm with a preanalysis of data.
International Journal of Knowledge-Based Intelligent Engineering Systems, 3, 135-146.

[4] Szkatuta G. (1995) Uczenie maszynowe na podstawie przykladow w przypadku bledow w
danych. Praca doktorska, IBS PAN, Warszawa, Polska.
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Rozdzial 2

Generalized Nets Modelling of Neural Networks Simulation

1 Introduction

Due to Cybenko’s theorem, described in Section 3.1, multilayer neural networks are the uni-
versal approximators or universal classifiers.

A multiplayer neural network consists of L layers, each layer is labeled by
1=0,1,2,...,L, and the layer / =0 denotes the external inputs to the network. Each layer is
composed of N(l), 1=0,1,2,...,L, neurons, where N(0) denotes the number of the inputs.
The neurons belonging to the (l —l)-st layer are connected with the neurons of the /-th layer.
Such a neural network can be considered as a system. The system consists of a set of con-
nected subsystems. Figure 1 shows a multilayer neural network as a system with subsystems,
the way of distinguish the subsystems is called aggregation.

We will consider three main cases of aggregation of subsystems within any multilayer

neural network, namely:

A. there is not any aggregation — it means any neuron is treated as a subsystem

B. the neurons are aggregated within each layer - separate layers are subsystems

C. the full aggregation — there are not distinguished neither separate neurons nor layers.
In the case A the considered neural network consists of the following number of subsys-

tems (neurons):

NL=Y'N(1) ¢))



described by the activation function as follows

Xy = f (""'pm)) 2)

where

N(-1)
net iy = Zwiu—l)/m Xpici-1) 3
i=1

while x,,_,) denotes the output of the i neuron with respect to the pattern p, p=12,..,P,
and the weight w;_;,) connects the i-th neﬁron from the (I —1)-st layer with the j-th from
the [-th layer, j=12,.,N(), l=12,..,L.
In the case B there are L subsystems with aggregated neurons within each layer, and
each subsystem (layer) is described as follows:
x()=FyWw@-1), x(-1) for 1=12,.,L @)
where X (l ) denotes the aggregated output of the layer [
X (1) = [0, x200,.., xv0y ] 7 for 1=0,1,2,..., L
&)
while W(l-l) denotes the aggregated weights connecting the /-th layer with the (l —l)-st
layer
W(Il —1) = [wig-1), wag-),..., wha-n |t (6)
and wit-1) = [Wi-00), Wig-1)20) .., wit-wey | 1 @
The weight wy,_,,,) connects the i-th neuron from the (l —l) -st layer with the j-th from the
I-th layer, and X(l—l) is the aggregated output of the (l—l)-st layer, j=12,.,N(),

[=12,.,L.
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In the case C there are not distinguished any subsystems within the network and the

whole network is treated as a system and is represented by

X(L)=G(ww (L), X (0)) ®)

where
ww (L)=[w(1),w(2),..,w(L))" ©)
W (1) = [y, Wagyoeos Wao )" (10)

Wi-1) = [Wi(l—l)l(l)' Wilt-1)201)5+++> Wi(l—l)N(l)]T
while wy,_,, ) is the weight connecting the i -th neuron from the (1 —1)-st layer with the j-th

from the I-th layer, [ =1,2,..,L, j=12,..,N()

Outputs  x,(L) x,(L) Xyay (L)

Layer L

Layer L-1

Layer 2

Layer 1

Layer 0 O N O

Inputs x,(0) x,(0) .. Xy (0)

Figure 1: A multilayer neural network structure
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It is obvious that the different case of aggregation of the neural network determines dif-
ferent streams of information passing through the system. In the subsequent sections we will
describe the way of modelling the simulation process of multiplayer neural networks by

Generalized nets for these three cases of aggregation.

2 Case A — Modelling without Aggregation

Let us consider the general structure of multiplayer neural networks shown in Figure 1. One
of possible generalized nets representation of the simulation process of this neural network is
depictured in Figure 2.

The generalized net from Figure 2, modelling the simulation process of the multilayer
neural network fro Figure 1, consists of a set of L transitions, each transition is of the follow-
ing form

Z = ({;"‘i(:-n), X1tyreees 3‘}:(1~|)}v {""i(:)s Xa(tyreees 'fn(:)}v T T 1y My, Dz) (11)
for [ =1,2,...,L, where
{'f,(,_,), Toi-tyoeees 3‘}«(:-1)} - is a set of input places of the [-the transition,
{'J'c',(,), Xyiyoeees Lif',v(,)} - is a set of output places of the [-the transition,

7, - is a time when the [ -th transition is fired out, while it is assumed that 7, =T and

1
f 4
T =T+Z"H ,
k=2

7, - is a firing duration time of the /-th transition,
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1, - denotes the I-th transition condition determining transfer of tokens from the transi-

tion's inputs {X,_y), Fyiysers Fron ] L0 its OULPULS {3 (), Fy)pens oy} and has the fol-

lowing Index matrix form:

i) %) Xn)

F-1) true true true

n= b true true true
X, (-1) true true true

(12

where the value true indicates that the tokens representing the neurons can be transfer

from i -th input place to the j -th output place, i =1,2,.., N(I-1), j=1,2,.., N(l),

M, - indicates an Index matrix describing the capacities of transition's arcs:

X

%)

L)

1)

M, = 5‘-2(1—1)

:fN(I—l)

13)



0, - has a form of Boolean expression A (Lf,(,_,), X(oiyreees 'i',v(,_l)) and describes that each

input place X,_,, i=1,2,.., N(l —l), must contain a token that will be transferred to

the [ -th transition.

N
N

| Y
x.l(o) Xiq) Xi(2)
X0 O—

%) Xo2)

L0 X

o) O—r—>O0———0

Figure 2: The GN model of NN simulation

}.I(L—l)

YZ(L—I)

:x.':N(L—l)

%)

X1

:iN(l,)

The Generalized net describing the considered neural network simulation process has

the following form:

GN1=((A,7,, 7y, ¢, 8,6, 8,), (K,7,,6), (T,0,1'), (Y,®,b))

where

A={Z,,2Z,,.,2,} -is aset of the transitions,

(14)

e 7, -is a function classifying the transitions, this classification gives the priorities of the

e 7, -isafunction describing the priorities of the places in the following way:

26

transitions, i.e. 7, : A— N, where N ={0,1,2,...}U{e} - in the considered neural

network case this function is not valid because the transitions are arranged in a natu-

ral (the asterisk * will be used in the subsequent text in order to denote components

of the General net structure which can be omitted),



P’i{zl’ Zy ZL}=

Xi(0)2 X2(0)+++» Xn(0)» X1(1)> X2(1)2+++» Xn(1)r+++> Xi(L-1)> X2(L-1)2+++> xN(L—l)}

prz{Z,, Zigsssi ZL}= 16
'J'c;(z), .)."z(z)r"-a l\'t'N(z), 3'6',(2), :fz(z),..., YN(Z),..., ;‘?l(L)’ :’32(L)""v YN(L)}

PRAV pr,A=

{2 oy Eagoyseres Ftopr Eosy» Fryos Ewey an

ceos K2y Foga)seees Xy(ayeees Xi(nys Xa(ryreeer ¥z
e ¢ -is a function describing the capacities of the places, in our case the capacity function
has the form:
clxg)=1 (18)
for i=1,2,.,N(l), 1=0,1,2,...,.L,
e g -is a function that calculates the truth values of the predicates of the transition condi-
tions (12), for the Generalized net described here this function is constant, i.e.
g(’;.i(l—l)j(l))= true (19)
(instead of the value false or true we can use a value 0 or 1),
e O, -is afunction giving the next time-moment when the transitions can be again activated,
and we can consider two cases:
a) performing the simulation of the neural network for only one input
x(0)= [xl(o)’ Xy(0)r++ xN(o)]T (20)
and it means that each transition fires out only once, and there is not any next time

of transition’s firing, such a case we denotes by *,

b) performing the simulation of the neural network for a set of inputs

{x,(0). x,(0)...., x ,(0)} @1
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where P denotes the number of samples (for example when we use the neural
network as an approximator of some function and we have P samples), and in this
case each transition will be active P times;

the function &, describing time of new firing for each transition has the following
form

e()=1,1=12,.,L (22

where (assuming that pr,Z, =T)

L
=T+(p Zpr,,Z +pnZ_=T+(p +Zr +pr,Z,, (23)
k=1 =
and
’ L L J
'1=tl+ZP"4Zk=tl+ZTk (24)
k=1 k=1

ve [T, T+t] and t <t for p=1,2,...,P; the value of this function is calculated
at the moment when the transition terminates being active,
e O, -is afunction giving the duration of activity of a given transition Z,
6,(t,)=1,1=12,.,L (25)
where ¢, is described by (23) and
H=pnZ =1 (26)
the value of this function is calculated at the moment when the transition starts func-
tioning,
e K -is the set of tokens entering the Generalized net, in the considered case there are N(0)
input places and each place contains one token; this set can be written as

K= {ax(o)* Qy(g)seees aN(l))} 27
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7, - is a function describing the priorities of the tokens, here all tokens has the same pri-

orities and it will be denoted by * for 7, (a,(o)), l= 1,2,...,N(0),

O, - is a function giving the time-moment when a given token can enter the net, i.e. all the

tokens enter the considered Generalized net at the same moment T,

T -is the time when the Generalized net starts functioning — here it is assumed that the net

starts at the moment T when the tokens enter the net,

1° - is an elementary time-step, here this parameter is not used and is denoted by *,

t" - determines the duration of the Generalized net functioning, that is:

a) for performing the simulation for only one input
N L
=Y1 (28)
I=1
b) for performing the simulation for a set of inputs
=P 9

where P denotes the number of samples,

Y - denotes the set of all initial characteristics of the tokens, the characteristics of tokens

describe information which is curried by tokens and changed in transitions,
¥ ={y(a)h vleng b o)} 30
where
Y(a’:(o))= <NN1,N(O),N(1), imX g, imWyq), Fy), imaut,(o)) @31
is the initial characteristic of the token @, that enters the place X,
i=12,.,N(0),
where

NNI1 - the neural network identifier,
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N(0) - the number of input places to the net as well as to the transition Z,
(equal to the number of inputs to the neural network),
N(1) - the number of the output places of the transition Z, ,
imXio) =[0,...,0, xi(0),0,...,0] 7 (32)
- is the Index matrix, indicating the inputs to the network, of dimension
N (O)XI in which all elements are equal 0 except the element i whose value

is equal xq) (the i-th input of the neural network),

‘ i) %) Engr)

. (33)
imWo) = ) Witontr) Wito)2(1) - Wi ()

- has a form of an Index matrix and denotes the weights connecting the i-th

input with all neurons allocated at the 1-st layer

N(0) Af)
Fyy = f.m(gxi(o) W-(o):(n))’ fz(])( %) Wz(o)z(n))v--v

N(0) T
f N(l)( i Xi(0) wi(O)N(I)] C))
p

- denotes a vector of the activation functions of the neurons associated with

the 1-th layer

%) %) Xng)

(35)

imoutyo) = Xo) | X Wione) Ko Wiont) ... Xio) Wiiow()
- is an Index matrix describing the signal outgoing from the i-th input place,
i= 1,2,...,N(0), to all output places of the Z, transition
e @ - is a characteristic function that generates the new characteristics of the new tokens

after passing the transition; for the transition Z,, [ =1,2,..., L, there are N(! ~1) input
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places {'J’c’,(,‘,), Xygotyeees 'J'c',v(,_,)} and with each place there is associated a single token

[ Ane i=12,.., N(l - l), having the characteristic

Watgon) = (NNLN( = 1) N (1), imX gy, imWy_y, By, imout_) (36)

where

NN1 - the neural network identifier,

N(I-1) - the number of input places to the net as well as to the transition Z,

N (l ) - the number of the output places of the transition,

imXi@-) = [0,...,0, xi¢-1,0,...,0] 7 (37
- the Index matrix of dimension N(I-1)x1 in which all elements are equal 0
except the element i whose value is equal x;,_, - the i-th input value associ-

ated with the Z, transition,

' %) %) i)

(38)

imWy_ = Xy | W) Wie-ao) Wia-w()

- is an Index matrix describing the weight connection between the i -th input

places with all output places of the Z, transition,

N(1-1) N&—l)
Fy= fl(l)( txi(l)wi(l—l)l(l))’fz(l)( x;(n)w.-(:-n)z(:))v

i i=1

i=1
N(-1)
s N(l)( txi(l—l) wi(l—l)N(I)):l ! (35)

- is a vector of the activation functions of the neurons associated with the

[ -th layer of the neural network
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\ X) X0 “e Xy

(40)

imoutyy_y = Xy | Xy Wig-y) Xig-) Wigaee) K- Wie-owa)

- is an Index matrix describing the signals outgoing from the i -th input place,

i= 1,2,...,N(l), to all output places of the Z, transition.
The tokens ;_,), i=l,2,...,N(l—l), passing the transition Z, vanish, and the new to-
kens &), j= 1,2,...,N(l), associated with the output places {L\'f',(,), Xo()reees 'fr'N(,)} of the
transition Z, are generated, their characteristics are described as follows
ey)= (NNLNQ),N(-+1), imX gy, imW,), Fypy, imout ) @1
for 1=1,2,...,L—1, while
aywy)=(NNLN(L)imX ) (41a)
and for these new tokens the values X0y Jj= 1,2,...,N(I), are calculated in the follow-

ing way

N(1-1)

imX ;) = f,(,)( Zl:imout,(,_,,], I=12,.,L 42)

it should be mentioned here that imX i) Jj= 1,2,...,N(L), denotes the output of the

neural network, the final state of the network after ending the simulation process,

e b -is a function describing the maximum number of characteristics a given token can re-

32

ceive; in the considered neural network simulation process this function has a simple

form

blayy)=1.for j=12,.,N(I).1=12,.,L 43)



it means that the characteristic of each token ), j= L,2,..,N(), 1 =1,2,..,L, is con-
structed on the base of the characteristics of all tokens (i =1,2,..,N(I~1)) from the

previous layer (I-1), [ =1,2,...,L.

Due to the above considerations the transitions have the following form
Z = <{'5‘}(:-n): Fyg_aprers Sy b (e oy fw(:)}, AR D;) (44)
for 1 =1,2,...,L, and other components of (44) are not changed.
The reduced form of the Generalized net describing the simulation process of the neural
network has the following form:
GN1=((A*7,,¢,%.6,6,), (K.*6,). (I.*.r) (r.0,b)) “3)
where
e A={Z7,2,,.., Z,} - is a set of transitions,
e 7, -is afunction describing the priorities of the places,
e ¢ - is a function describing the capacities of the places, i.e. c(xi(,))= I, i=12,..,
N(), 1=0,12,..,L,
e O, -is afunction giving the next time-moment when the transitions can be again activated,
6,(t,)=1, 1=1,2,..,L, and is described by (23) — (24),
e O, - is a function giving the duration of activity of the transition Z, &,()=1/,
l=1,2,...,L, and is described by (23) and (26),
e K= {af,(o), yfg)oees aN(o)} - is the set of tokens entering the Generalized net,
e @, =T -forall tokens entering the net and at this moment the net starts functioning,

e " - determines the duration of the Generalized net functioning and is described by (28) or

(29),
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e Y -denotes the set of all initial characteristics of the tokens described by
Y= {y(a’,(o)), y(az(o)),..., y(a’,v(o))}, where

y(‘%(o))= (NNLN(O),N (1), X o), Wioyy» Foy out,g),

e @ -is acharacteristic function that generates the new characteristics of the new
tokens after passing the transition, and is described by (31), (36) and (41),
° b(aj(,))= 1,for j= 1,2,...,N(l), 1=12,...,L, - is a function describing the number of char-
acteristics memorized by each token.
Such Generalized nets with missing of some components (the components are not valid)
are called reduced Generalized nets (Atanassov, 1991). In the above version of the General-
ized nets representation of the simulation process of multilayer neural network we preserve

the parallelism of computation.

3 Case B — Modelling with Aggregation within Layers
Let us again consider the structure of the multiplayer neural network shown in Figure 1, and
aggregate the neurons allocated within each layer I, [ =1,2,...,L. In this way we can obtain
the aggregated system that consists of L subsystems. The aggregated layers are described in
details by (4) — (7).

Two version of the aggregation will be considered. In the first version all input token
will be aggregated in only one token, while in the second version we will not aggregate to-
kens but by introducing some extra places (and tokens) the tokens will enter each transition

sequentially.
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3.2 VersionI
In the first version, the Generalized net representation of the neural network consists of L

transition. Each transition Z,, [ =1,2,...,L, has the following aggregated input place

X, = {ﬁ(m)v Toiotoees 3‘)«(:4)} (46)
and the aggregated output place
X, = {'fu(l)v Xatysees '5"~(1)} 47)

The Generalized net structure of such aggregated neural network is depictured in Figure

Figure 3: The GN model of NN simulation with layer aggregation

It is assumed that for each transition Z,, [ =1,2,...,L, there is a single input place as

well as a single output place, additionally let us assume that each place contains only one to-
ken.

Each transition Z,, [ =1,2,...,L, has the following form

Z/'=<{Y(:_n)}v{5"(:)}» 7,7, ’;'MI’D’> @9

where
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{Y(,_,)} - is the input place of the [-th transition,

{X (,)} - is the output place of the /-th transition,

U
7, - is a time when the /-th transition is fired out, while 7, =T, 7, =T+ ) 7, ,,
k=2

7, - is duration of activity of the [-th transition,

1; - denotes the I-th transition condition of the ¢,_,) token from the transition's input place
{Y(,_,)} to its output place {)"('(,)}, and it has a simple form: 7 = true (i.e. the input to-

ken can be transfer to the output place without any condition),

M, =1 - indicates that only one token can be transferred by arcs in the same time,
0, - is not valid due to existence of only one token in any place.
In this way the transitions Z,, [ =1,2,...,L, now have the following reduced form
z)=({Zp b {X )} 7. 7) 49)
Under the assumption that each place contains only one token the characteristics of the
tokens must be of much more complex form. Let us again consider the Generalized net which

describe the neural network simulation process but now with aggregated layers. The new ag-

gregated Generalized net has the following form:
GN2=< (A, gy Ty5C 8, Qp 92)1 <K97r/‘: Q/()s <T, t“s")) (Yv ¢1 b) > (50)
The components of the first part of (50) are described as follows:

A={Z,,2Z,,.,Z,} - is aset of transitions,

7, - is not valid here,

7, - is a function describing the priorities of the places in the following way:

PrilZ, Zan Z Y= K gy Ky Ky} 1)
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prdZe Zyn 2} = { Xy Ky X)) (52)
prAU pr,A= {}f(o), }f(,),..., )"('(,__l),}‘('(,_)} (53)
c(x,(,))= 1 -is afunction describing the capacities of the places,
g(r,‘,.(,_,)j(,))=true - is a function that calculates the truth values of the predicates of the
transition conditions,

©, - is a function giving the next time-moment when the transitions can be again activated;
for a single simulation this time is not valid, while for performing the simulation for a

set of inputs the function has a form 6,(t,)=1/, [ =1,2,...,L, (with pr,Z, =T), where

L
=T+ Zpr‘Z +pr,Z,,—T+ +Z +prZ._, (54)
k=1 k=1
and
p L L
N=t+Y prZ, =+ 1, (55)
k=1 k=1

vell,T+t]and t<¢ for p=1,2,..,P
©, - is a function giving the duration of activity of each transition Z,
e,@1)=1,1=12,.,L (56)
where #, is described by (54) and #= pr, Z, =7, (the value of this function is calcu-

lated at the moment when the transition starts functioning).

In the second part of the Generalized net (50) the components are described as follows:
K= {a(u)} - is the token entering the Generalized net (here only one token enters the net),
7, - describing the priorities of the tokens is not valid here,

Oy =T -is atime when the token ¢, enters the net.
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The components of third part of (50) constitute:

T - the time when the Generalized net starts functioning,
1° - describing the elementary time-step (not valid here),
t" - describing the time when the Generalized net is functioning:

L
for a single simulation ¢ = ZT,'
1=1

L
for a set of inputs this time is described by 1" = P Zr,’ , where P denotes the number
I=1

of samples.

The components of the last part of (50) are described by:

Y= { y(a(o))} is the initial characteristic of the token which enters the place 5('(0), the token
has a form
Wegg))=(NN1LN(O), N(1), imX ), imW), Fyy, imouty)) 7

where
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